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RASHTRIYA INDIAN MILITARY COLLEGE, DEHRADUN

ENTRANCE EXAMINATION - DEC 2024

TIME: IHr 30 Mins
MATHEMATICSSUBJECT: 

Instructions/ •
MM: 200

Attetnpt all 30 questions. Write your answelA separately on the answer sheet provided at the exam centre. 30

2.
Part 'A' contains 20 questions question in this 'Five marlcs'.

3. 20
Part 'B' contains 10 questions and each question in this calTies 'Ten marks'.

10 u?.l
4.

Use of Calculator is Prohibited. Marks will be awarded stepwise.

5.

The question paper can be retained by the candidates post exam. / 
I

What should be
7/5 to get 3/7 7/5 

Q.2 (3x 3 + 

PART A (20 x 5 = 100 MARKS)

added to twice the rational number
3/7

— 17xy 2 + 6y ß ) by 3x — 2y

Q.3 Find at least tvvo pairs of natural nurnbers which satisfy the equation 2x3 = y? /2x3 =

Q.4 In the given figure ABCD & BCED are parallelograms. BCFD is a rhombus. If DEC = 800. Then find all theangles of Triangle AEF./ ABCD BCED BCFD zDBC = 800AEF

c

Q.5. A man misses a train by 1 hour if he travels at a speed of4km/hr. If he increases his speed to 5km/hr, he
still misses the train by 2 minutes. At what speed should he travel so that he reaches the station exactly on
time? //

Q.6 A man borrowed a certain sum of money and paid it back in 2 years in two installments of Rs 3000 and
Rs 2362.5. If the rate of compound interest was 5% payable annually, what sum did he borrow?

2 3000 2362.5 5% v_fr,
ft-a-;fr

Q.7 Find the greatest number which on dividing 1657 and 2037 leaves the remainders 6 and 5 respectively.
$n%-r-r 1657 2037 6 5

In a factory, the production rose to 48400 from 40000 in 2 year time. Find the rate of growth per
annum. 2 40000 48400 tr

Q.9 Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54. / 16, 24, 36
7q-r--34 q-f@ tr
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A copper when bent the 

into a circle, find the area of the cin•le./ 

encloses 
il 

If same wire is bent

Fir 484 cm?

Q Al A shopkeeper the 01 two identical iAes, one 

ab ove the cost price. lt- a discount ot- is on 01 

above the cost J) Iice and the other 500/

the overall profit 

50%

percentage. /

C eeta can titilSh in (lays Meeji.i also so ili (lays. 'I'ljey (10 the [or

five dav.s. A tier Meen.i svlth(llavvs the In how (l.iY% will Geet;i fljii%li

25 9,' 'If •c

cubes can be cut frojn a cuboid Incasuring 36m x 15m x gm./ 36m x 15m

nmany sides a polygon has if the sunn of its interior angles is 2() right

20

Q. 15 On selling 300 apples at 3 for IRS 10, I'val<har gained Rs At what rate did he buy the apples? What was

his gain percent?/ 300 10 3 400

Q. 16 A family consists of four persons. If Vijaya's scholarship is doubled, the total income of the family will
increase by 5%; if, instead, Mother's salary is doubled, the family's income will become 15% greater; and if
father's salary is doubled, the family's income will grow by 25%. By what percent will the family's income grow

if Grandpa's pension is

5% 15% fi--ffT

Q. 17 Given that 268 x 74 = 19832, find the value of 2.68 x 0.74 /

268 x 74 = 19832, 2.68 X 0.74

Q.18 Sum of three consecutive integers is S. If the smallest integer is increased by 10%, the middle integer is

doubled and largest integer is reduced by 20%. New sum is S + 22. Find the original numbers and the value of

S./# S 10% AZT a-fi

* 20% •z-r S + 22 S

Q. 19 Surface Area of three faces of a cuboid are 20 sq m, 32 sq m and 40 sq m. What is the volume of the

cuboid?/ 20 *ray, 32 tr-z•v 40 to

Q.20 Find LA + LB + L C + L I) + L E./ LA + z B + z C+

c
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Q.21 Find the sun) of (2 2 2

Q.22 regular polygons ace 

of their interior angles is 3:.6. the

In a sequence, is 

tinw. The ill st tenn ot the sequenu• is 

(a) Find the •l tern) in the sequence.

= 100 MARKS)

2 10 )/ (2 .

the bet the 

oi sides 

by

of is and the ratio of measures
/

to that by 2
the is 9,

a general to tind the nth teclii 01 the sequence/

In a class of 20 students, the average score on a nnathcrnatics test is 75. However, when the top 5 scores

are renwved, the average score of the ren)aining 15 students (hops to 7().

(a) What is the total score of the top 5 scorers?

(b) Find the new average if one additional student, scoling 6(), is also rcjnovcd [rom the group of 15 students. /

20 75 5 2, Fit 15 70

5 5
Q 25 Find the value of 4 1 1

1 1
1 1
4 4

Q.26 Look at the pie chart below and answer the following questions.

(a) What are the various expenditures (in %) incurred in publishing a book.
(b) If for a certain quantity of books, the publisher has to pay Rs 30600 as printing cost, then, what will be the
amount of royalty to be paid for these books.
(c) What is the central angle of the sector corresponding to the expenditure incurred on royalty.
(d) The price of a book is marked 20% above the cost price. If the marked price of the book is Rs 180, then what
is the cost of the paper used in a single copy of the book?
(e) If 5500 copies are published and the transportation cost on them amounts to Rs 82500, then what should
be Selling Price of the book so that publisher can earn a profit of 25%.
(f) Royalty on the book is less than the printing cost by how much percentage?

(a) 0/0)?

(b) a-t!, 30600 t,
-fi -q-rtr tFfr?

(d) 20% 180 t, fr

(e) 5500 82500 t,

25% 47q-r
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PIE CHART
Pcotnotion Cost/

10%

Printing Cost/

Royalty Cost/

Transportation Cost/

FTvra, 10%

Paper cost/

25%

Q.27 A metal cuboid of dimension 49m, 22m and 14m is melted and cast into 7 identical cylinders of radius

7m. These cylinders are again melted and cast into cubes such that the side of each cube is equal to the height of

each cylinder. How many such cubes can be cast? 49 $tzv, 22 14

Q.28 A can of oil was 4/5 full. When 6 bottles of oil were taken out from this can and 4 bottles of oil were
poured into it, it was 3/4 full. How many bottles of oil can the tin contain? (All bottles are of equal volume)/

g¯TT 6 4 3/4

Q.29 How many bricks of size 22cm x I()cm x 7 cm are required to construct a wall 11m long, 3.5m high and
40 cm thick if cement and sand used in the construction consists of 1/ 10 th of the total material used to build the
wall?

1 1 Thi, 3.5 40 #-$r 22 x 10 x 7

fr-q-%T -€fi-äz a-a-fi 1 /10 t?

Q.30 Abhishek scored 90% marks in Maths, 85% in Science, 80% in Social Science and 75% in Languages. If
the maximum marks in Maths is 200, Science 150, Social Science 150 and Language 100, find his aggregate
percentage. If he wants to improve his aggregate percentage by 2% through languages alone, find the score

required in languages. 90%, 85%, 80% 75%

200, Ei 150, 150 it 100 t,

g-rqråt 2% t, it

ALL THE BEST
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